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Answer three questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Odyssey 9.256-271

(a)

(b)

(©

(d)

(e)

2213-2954

W €pal’, NuUiv " avte katekA&oOn Gpidov 1ToQ,

detoavtwv POOYyov te PagLV aVTOV TE T

EAwQOV.

AAAX KAl WG ULV ETTECOLV AHEBOUEVOS TIQOTEELTIOV"
“fueic tot TpoinOev amomAayx0évteg Axatot

260 mavtoiog avépolow VTEQ péya Aattpa OaAdoong,
olkade Lépevol, AAANV 000V AAAx kKéAevOa
NABopev: o0tw Tov Zevg 110eAe punticacOat

Aot O Atoedew Ayapépvovog eUXOUED’

TOUL O1) VOV Y& HEYLOTOV UTTOVQAVIOV KAEO
265 TOOOMNV YXQ OLETEQOE TTOALY KAl ATIWAETE

slva,
G éotl
Aaovg

TIOAAOUG. NUEIS O ADTE KIXAVOHUEVOL T OX YOOV
kKOpeD’, el L mMOOLS Eetvniov 1€ Kal AAAWG

doing dwrtivny, 1] te Eelvwv OEuIC EoTiv.

AAA” aideto, péplote, Oeovs: ikétal O€ Tot ey,

270  Zebg d' EMUTIUNTWOE IKETAWY TE vV TE,

Eetviog, O¢ Eelvoloy ap’ atdolotowy omndet.”

Scan delodvtwyv ... moooéetrtov: (lines 257-258).

[2 marks]

Aaotl ... ToAAoUg (lines 263-266). For which achievements is Agamemnon

praised in Odysseus’s words?

Name the action described in lines 266267 (f|LeLG ... ikOpLE
aspects of its ritual are highlighted here?

[4 marks]

O[1). Whichrelevant
[3 marks]

What is a Eetvjiov (line 267) and why is it so important that Odysseus mentions

it here?

Give three details that refer to the role of Zeus in this text.

[3 marks]

[3 marks]
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Genre: Epic

Question 2. Homer Odyssey 9.399-414

(a)

(b)

(©

(d)

(e)

2213-2954

avta 0 KokAwnag peyaA’ fmoev, ol 9d& pv apdpig
400 @KeOV €V OMMETOL Ol AKQLAG T|VEHOEOTAGC.
oL d¢ Pong atovteg époltwv aAAobev dAAog,
lOTAEVOLD €lQOVTO TeQL OTTEOG OTTL € KT)dOU
“tinte T000V, IToAVPN U, donuévog wd’ EBonoag
vOKTa 0L apBoooiny kal abmvoug appe tiOnoda;
405 1) un tic oev uNAa Beotwv dékovtog EAavvel;
N un) tic o” avTov Ktetvel 00Aw N Bindry;”
TOUG O avT’ €€ AVTEOL MEOCEPN KEaTeEOS TToAvPN oG
“@ Ppidol, OvTic pe ktelvel D0Aw ovdE Bindy.”
oLd" amapelPopevol Emea MTEQOEVT AYOQELOV®
410  “etpév o un tic oe Pualetat olov €0vtq,
VOLOOV Y’ 0V Twg €0TL ALlog peyaAov aAéaodat,
AAA 00 v’ eUxeo natol Iooewwawvt dvatt.”
WS &’ Epav amdvteg, epov O’ eyéAdaocoe PplAov kN,
WG OVOU’ €EQTATNOEV EUOV Kal UNTIG AUVHWV.

Explain briefly why Polyphemus is crying in line 399.
Translate ot d¢ ... 6ttt € k1jdot (lines 401-402).

Why do the other Cyclopes describe Polyphemos’s tribulation as a disease
(vovoov) in lines 410-411?

Explain what Odysseus is referring to in line 414.

Which typical stylistic feature does Homer use when describing people or things
in this text? Name it, and give two examples from the text.

[2 marks]

[3 marks]

[4 marks]

[3 marks]

[3 marks]

Turn over
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Genre: Historiography

Question 3. Herodotus 7.40

10

(a)

(b)

(©)

(d)

(e)

2213-2954

TONOAVTWY d¢ TOVTWV TOVTO, et TavTa dLer)le O OTEATOG. 11YEOVTO OE TIOWTOL eV
oL okevoPOEOL Te Kal Tax DTOLVYL, HeTa O TOUTOUSG CUUMIKTOS OTQATOS TIAVTOLWV
E0VEWV avauLE, oL dlakekQLuévor T1) 0¢ Lrepnuioeeg Noav, evOavTa dleAéAeLTtTo, Kal
00 OLVEULOYOV 0UTOL BACIAEL TIEOTYEDVTO pEV OT) Immotat iAoy, €x [Tepoéwv mavtwy
amoAeAeyuévor peta de aixpodogot xiAoL kal oUTOL €K MAVTWV ATIOAEAeYUEVOL,
TG AdyXac Kdtw &g v ynv toédavtes peta 0¢ oot Nnoaiot kaAedpevol (mmot
déra KeEKOOUNHEVOL WS KAAALOTA. Nnoatot de kaAéovtal (rtmtot €mi tovde” €0t Tedlov
péya g Mnduwkng t ovvoua €ott Nrjoaov: tovg @v O1) (MTovg Tovg HeyYAAovs Gépet
TO medloV TOLTO. OTIo0e d¢ TOVTWV TV déka (MMWV dQpa ALOG 1QOV ETETETAKTO, TO
{mmot pev eiAkov Agvkol 0kTw, OTio0e d¢ a TV Mmwv eimeto Teln) vIioxog EéXOHUeVog
TV XaAWvav: ovdelg yap On émt tovtov Tov Opovov avOpwnwv emiPaivel. Tovtov d&
omoBe avtog Eéping ém’ dopatog (nmwv Nnoatwv: mapafePrjcee d¢ ol fvioxog tq
ovvopa NV Iatpdudne, Otdvew avdopog ITépoew nals.

Nyéovto ... ta voCvywx (lines 1-2). What piece of information can we gain
from this detail? [2 marks]

Referring to lines 2—5 (petax d¢ tovTOLG ... AamoAeAeyuévol), give four
details relevant to the ethnic composition of the Persian army and its special
troops. [4 marks]

Give three characteristics, apart from their origin, attributed to the Nesaean
horses in lines 6-9 (peta ¢ ... Medlov TOLTO). [3 marks]

Describe Zeus’s chariot, as presented in lines 9-11 (0mioBe d¢ tovTWYV ...
eruPadivet). [3 marks]

In what year(s), according to modern chronology, do the events described in this
extract take place? Name two cities Xerxes will call on in his march from Sardes
through Asia. [3 marks]
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Genre: Historiography

Question 4. Herodotus 7.47-48

10

(a)

(b)
(©)
(d)

(e)

2213-2954

47

Eéo&nc 0t apeifeto Aéywv “AgtaPave, Plotng pév vov avlownning mégL, €ovong
TolavTNG OtV TeQ oL dxéal eival, MAVOWHeDR, UNdE KaKWV pepvpeda xonota
Exovteg monypata év xepoi, ¢poaoov d¢ pot toder el Tot 1) 0PI Tov €vuTviov U
EVaEY1g oUTw DAV, elXeC AV TNV AQXANV YVWUNV, OUK €V He otoateveoOal €Tl
™V EAAGOq, 1) petéotng av; Gpége TOUTO HOL ATOekéwS elme.” O de apeifeto Aéywv
“ BaoAey, Ot pevn) emipavelon TOL OVEIQOL WG BoLAOUEDa dpdOTEQOLTEAELTI|OELE
Eyw O ETL KAl € TOdE DelHATOS el VTTOTIAEOG OV €VTOG EUEWLTOV, AAAN Te TTOAANX
ETUAEYOUEVOS Kal O1) Kal 0@V TOL OVO T HEYLOTA TIAVTWYV €0VTA TOAgOTATA.”
Eéo&nc d¢ mpog tavta apeiBeto tolowe. “danovie avdowv, kola tavta Aéyelg
elvat dVO pOL TOAgHIOTATR; KOTEQA TOL O TelOC MEUTMTOS Kata MANOOS 0T, kal
10 BEAANVWKOV otodtevpa dpatvetar moAAanmAnoov éoecbat Tov 1peTéQov, 1) TO
VOUTIKOV TO NHéTeQov AelipeoBat ToL ékelvav, 1) Kat oLVAPPOTEQX TAVTA; €L YAQ TOL
a0t Ppalvetat évdeéotepa elvat T NUETEQA TOTYHATA, OTEATOL &V AAAOL TIG TNV
taxlotnv dyepotv motéotto.”

Explain the context of the episode. Where does it take place, what is Artabanus’s
relationship to Xerxes, and what were the protagonists doing before the start of
this dialogue? [4 marks]

unNodeE kaxkwv pepvwpeOa (line 2). What do these words refer to? [3 marks]

What do the words xonota €xovteg morjypata €v xeoot (lines 2-3) refer to? /2 marks]

Translate @ BaoAev ... évtog épewvtov (lines 6-7). [3 marks]

Describe the three sources of danger Xerxes suggests Artabanus might be

referring to in lines 9-12 (datpovie... Tavta). [3 marks]
Turn over
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Genre: Tragedy

Question 5.

(a)

(b)

(©)
(d)

(e)

2213-2954

65

70

75

80

85
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Euripides Hippolytus 6287

(ImmoAvtog kai OepamovTeg)

TOTVIX TTOTVIX OEUVOTATA,

Znvog véveOAov,

XALOE, XALQE oL, @ KOQX

Aatovg Apgtept kat Alog,

KaAAloTa TOAL tagBévav,

& HEyav KAT ovEAVOV

valelg evTIaTéQELAV -

A&V, Znvog mMOAUXQUOOV OlKOV.

XALOE€ HoL, @ KA. KaA-

Alota twv kat 'OAvumov

naeOévwv, AptepL

(ITmtmtoéAvTOCQ)

00l TOVOE MAEKTOV OTEPAVOV €E AKTOATOV
Agluavog, @ déomova, Koounoag GEQw,
¢€vO’ ovTe moun v a&lot pépPetv Pota

o0t NAOE mw oldNEOS, AAA’ akrjpaToV
HEALoOQ Aglpuv’ njowvn dLépxetal,

Adwg d¢ motapialol knTevel dQOOOLS,
001G DOAKTOV UNdEV AAA’ €V T1) PLOEL

TO OWPQOVELV elANXeEV &G T TTAVT Q&L
tovTolg dpémeoOal, TOlg Kakolotd oL DG,
AAA’, @ PIAN déomova, xQLOEag KOUNG
AvAdN U dEEaL X€1QOG VOEPBOVGS ATTO.
HOV@ YAQ €0TLTOVUT EUOL YEQAG POOTWV"
ool kal EVveluL kal Aoyols apeifouat,
KAVWV pEV avdNG, Oppa O 0LX OQWV TO OOV.
TéA0g Ot kKAppalp’ womep NeE&unV Blov.

Give three nouns, both in Greek and in English translation, with which Artemis
is addressed in lines 62—74.

In which ways does the garland offered by Hippolytus to Artemis hint at her
virginity (lines 73—81)? Please refer to the text in your answer.

Translate XAA’, @ GIAN ... Bootwv (lines 82-84).

Scan povw yao ... apeipopatl (lines 84-85).

In which ways is Hippolytus’s relationship with Artemis exceptional? Refer to
lines 85-87 (ootl...[3iov).

[3 marks]

[4 marks]

[3 marks]

[2 marks]

[3 marks]

Turn over
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Genre: Tragedy

Question 6. Euripides Hippolytus 337-355

(DPaidonr)
@ TATN|HOV, oloV, unTeQ, NEAcONg €Qov.
(Toodc)
OV €oxe TavEOV, TéKVOV, 1] TL P1)¢ TOOE;
(DPaidonr)
oV T, @ TdAaw’ dpatpe, Alovooov ddpag.
(Toohdc)

340  Térvov, Tl TAOXELS; OLYYOVOLS KAKOQQOOELS;
(DPaidonr)
TolTN 0’ €y dVLOTNVOG WS ATTOAALHAL
(Toodc)
€K ToL TETAN Y ar 1ot mpoPrioetat Adyog;
(DPaidonr)
gxel0ev NUELS, OV VewoTl, OLOTLXELG.
(Toohdc)
OVLOEV TL HaAAOV 010 & BovAopat kKAVeLv.
(DPaidonr)
dev

345 m@c av oL pot AéEetag ape XOn Aéyewy;
(Toodc)
OV HAVTIS el TadavT) Yvaval oadag.
(DPaidonr)
ti Tov0’ 6 dn Aéyovotv avOewTOoLS €Qav;
(Toodc)
NOL0TOV, @ MaAl, TAVTOV AAyewvov 07 aua.
(DPaidonr)
NUEK v elpev OATEQW KEXOMUEVOL.
(Toodc)

350 Tl €oag, @ Tékvov; avOwTwV Tivog;
(DPaidonr)
60Tg Mo’ 00Tog €007, O g Apalovog...
(Toohdc)

TntmoAvtov avdag;
(DPaidon)
00V Tdd’, OVK €U0V KAVELS.
(Toohdc)
olpot, TLAEEELS, TEKVOV; WG U ATIWAETAGC.
YUVAIKEG, OVK AVAOTXET , OUK AVEEOHAL
355 Cwo'* £x00v NuaQ, €XOp0V eloopw PAOC.

2213-2954



(a)

(b)

(©

(d)

(e)

2213-2954
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untee (line 337) Spatpe (line 339). Who is Phaedra referring to and why are
they “unhappy” and “poor”?

Scan téivov ... amtoAAvuat (lines 340-341).
To what extent does Phaedra agree with the nurse’s definition of love in line 348?
Translate ti ¢1)c ... KAVelg (lines 350-352).

Outline the four different stages through which Phaedra unveils her love to the
nurse in the text.

[4 marks]
[2 marks]
[2 marks]

[3 marks]

[4 marks]

Turn over
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-10- M13/2/GREEK/SP2/ENG/TZ0/XX

Question 7. Aristophanes Clouds 35-55

(a)

(b)

(©)

(d)

(e)

2213-2954

35

40

45

50

55

(Pedinmidnc)

€TedV,  TATEQ

ti dvokoAatvels kal otEédeL TV vOXO ' OANV;
(EtoeLadng)

OAKVEL pLE ONUAQXOG TIS €K TV OTQWUATWV.
(Pedinmidnc)

£a00V, @ dALUOVLE, KaTadaEOetv Tl pe.
(EtoeLadne)

oL O’ oLV kA&Oevde: Tax & xéa TavT 00 OTL

&g NV KePaANV dmavta v onv toédetat. Pev.
el wpeA’ 1) meopvnotol” dmoAéoBal kKakwg,
TG pe ynu- émmoe v ony pntéear

guoL Yo 1V aypotkog 1jdtotog Biog

EVOWTLWV, AKOENTOG, €lKT KElUEVOC,

Bovwv peAlttals kat mEoPATols kal otepuPpLAOLS.
énert’ Eynua MeyaxAéovg tov MeyakAéoug
AOEADLONV AyQOLKOC WV €€ AOTEWG,

OEUVTV, TOVPLOAYV, £€YKEKOLOVQWHEVTV.
TaA0TNV 0T EYAHOLV, OUYKATEKALVOUNV €Y@
OCwV TELYOGC, TOAOLAG, £QlWV, TEQLOLOIAG,

N O av pvEOV, KEOKOV, KATAYAWTTIOUATWY,
dartavng, Aaduypov, KwAwadog, I'evetvAAidoc.
OV UMV €0W Y WS AQYOS NV, AAA’ eéomtdOat.

Eyw O’ av avtr) BolpATiov detkvg Todt
neodaotv Eépaokov “@ yoval Alav ormaBag”.

At the very beginning of the text, why cannot Strepsiades sleep?

Translate oL O’ ... Pev (lines 39-40).

Give three characteristics of the ideal life according to Strepsiades (lines 43—45).

Identify four aspects that mark the difference between Strepsiades and his wife,
as depicted in lines 46-52.

Whatdo welearnabout Megacles’niece from words suchas é yxexotovowpévnv
(line 48), KwAwadog (line 52) and I'eveTtuAAidOG (line 52)?

[3 marks]

[3 marks]

[3 marks]

[4 marks]

[2 marks]
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Question 8. Aristophanes Clouds 1067-1086

(a)

(b)

(©)

(d)

(e)

2213-2954

1070

1075

1080

1085

[Nlustrate the two different accounts of the marriage of Peleus and Thetis given

(Aikatog A6yo0g)

Kal v Oty v éynue dux 10 cwdovetv 6 IInAeve.
(Adkog AdYog)

KAT ATIOALTTOVOA Y™ AUTOV WXET * OV YAQ NV UPELOTIG
0VO’ 1)OVG €V TOIC OTEWHACLY TNV VUKTA TavvuXICeLtv
youvn d¢ ovapwEovpEVT) Xalper oL O el Kodvimmog.
oKkéPaL YaQ, @ HEWRAKIOV, €V T OWPQOVELV ATIAVTX
aveotw, 1Ndovwv 0 6owv pEAAeS amtooTepetoDad,

Tadwv, yuovakwy, KottdPwv, OPwv, mTOTwV, KIXALOUV.

Kattot tt ool CNv &&ov, tovtwv éav oteEnong;

elev. mAageln’ évtevOev €¢ TG TS PUOEWS AVAYKAC.
HaQTES, NOAoONG, éuoixevode Ty, K&T eANPONC
ATIOAWAAS AdVVATOG Y el AyeLv. EUOLD’ OHIAQY
Xow T puoeL, okipTa, YEAR, VOULLE pUNdev atoxQov.
HOLXOG YaQ 1)V TUXNG AA0UG, TAd ™ AvTeQELS TTEOG ALTOV,
W 0VdeV NOIKNKAG elT’ &g TOV AL ETIAVEVEYKELY,
KAKEIVOSC WG NTTWV £0WTOC E0TL KAl YUVALK@V*
Kaltot ov Ovntog wv Oeov Twg pellov av dVVALO;
(Aikarog A6yo0g)

Tt O NV gadpavidwOn mOOUeVOS oot Téhoa Te TIAOT),
EEeLTIVA YVOUNV AEYELV TO UT) €VEVTIQWKTOG elva;
(Adkog AdY0Q)

NV O’ eLEVTIEWKTOG 1), Ti TelTETAL KAKOV;

(Atkatog A6yoc)

T pev ovv av €t petlov ot TovToL TOTE;

by the Just and the Unjust Argument in lines 1067-1069.

What examples does the Unjust Argument give of “the pleasures of life”

(lines 1072-1073)?

What examples does the Unjust Argument give of “the necessities of

our nature” (lines 1075-1076)?

Translate kaketvog ... d0vaio (lines 1081-1082).

In lines 1085—-1086 what is, in the Just Argument’s eyes, the greatest punishment

for being a blackguard/scoundrel (evQUTEWKTOG)?

[4 marks]

[3 marks]

[3 marks]

[3 marks]

[2 marks]

Turn over
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Genre: Philosophy

Question 9. Plato Apology 18a—d

10

15

(a)

(b)

(©)

(d)

(e)

2213-2954

TOWTOV eV 00V dikalog et amoAoyroacBal, @ avdoeg ABNvalol, TEOS T TMEWTA
HOL Peudn] KATI YOO HEVA KAL TOUS TIOWTOVS KATNYOQOUGS, ETTELTA D& TOG T VOTEQOV
Kol ToUG DVOTEQOUG. €OV YAXQ TTOAAOL KATIYOQOL YEYOVAOL TIROG VUAGS Kol TAAAL TTOAAX
non €t xat ovdev aAnOeg Aéyovreg, obg eyw paAAov Gofovuat 1) Tovg apdt Avutoy,
KalmeQ Ovtag kat TovToug detvovg AAA™ Ekelvol detvOTeQOL, @ AvdQES, Ol DHWV TOLG
TOAAOUG €k Taldwv magaAappavovteg €melbov Te KAl KATNYOQOLV €UoL HaAAov
0VOEV AANOEC, WG 0TV TIC LWKQATNG 00POC AVNQ, TA Te HETEWQEA PQOVTIOTNG Kal
T OO VNG mAvTa avelNTNKws Katl Tov HTTw AGYoV KQEITTW ToLwV. 00TOoL, @ &vOQES
AOBnvaiot, ot TavTNV TNV PNUNV KATAOKEDAOTAVTES, Ol deLVOL €0V POV KaTr)yoQoL ot
YOQ AKOVOVTEG TyouvTal ToLg Tavta Cnrovvtag ovde Oeovg voullew. émettd elow
0UTOL Ol KATIYOQOL TTOAAOL Katl TOAVV XQOVOV 101 KATIYOQNKOTES, €TL OE KAl £V TavT)
) NAwia Aéyovteg mEOg DUAG €v 1) av HAALoTa €miotevoate, maldeg Ovteg €viot
VU@V KAl HEWQAKLA, ATEXVOS EQNHUNV KATIYOQOUVTEG ATIOAOYOUVUEVOL 0LdEVOG. O D&
TAVTWV AAOY@TATOV, OTL OVOE T OVOUATA OLOV Te AVTWV eldéval Katl elmely, ANV &l
TIC KWHWOOTIOLOG TUYXAVEL V.

TIQWTOV UEV OVV ... ToUG VoTéouvg (lines 1-3). Explain the context of the
action. Whom is Socrates addressing and why? [3 marks]
Translate £uov Yy ... dewvovg (lines 3-5). [3 marks]

AAA” €ketvor dewvoteol (line 5). Why are the unnamed accusers of Socrates
more dangerous than Anytus and those around him? [4 marks]

In what sort of activities is Socrates involved, according to his unnamed
accusers? Refer to lines 7-8 (t& te ... TOLWV). [3 marks]

ANV &l TI6 KwHwdoTIolo¢ TUYXAVEeL WV (lines 14-15). To whom do these
words refer, and to which of his works specifically? [2 marks]
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Genre: Philosophy

Question 10. Plato Apology 40c—41a

10

15

(a)

(b)

(©)

(d)

(e)

dvotv yap Oatepdv oty TO TEOVAvar 1) yaQ olov pndev eivar undé aiocOnow
undepilav pndevog €xetv Tov tebvewta, 1 KAt o Aeyopeva HetaoAr] TIC TUYXAVEL
ovoa Kal HeTolknotg ) Puxn ToL TOTOL TOL €VOEVDE elg AAAOV TOTIOV. Kal elte O
undepia aiobnoic é¢otv dAA’ olov Umvog Emedav Tig kaBevdwv UNd’ dvaQ pNdev
00a, Oavuaoiov kK€Edog av el 0 Bavatog — éyw Yo av olpatl, el Tiva eékAeEapevov
déoL TavTNV TV VUKTA €V 1] 00T KATEdaQOeV hote UNdé dva ELY, Kal Tag AAAag
VOKTAG Te Kol UEQAS TG TOL BIOL TOV €aVTOL AvVTITTaafévta TadTn) Th) VUKTL déotL
OKePAUEVOV ELTELV TTOOAS AUELVOV KAl OOV NHEQAS Kal VUKTAG TAUTNG TNS VUKTOG
BePlowkev &v @ €avtoL Piw, olpat av un Ot BTNV TVA, AAAX TOV péyav PactAéa
EVLAQLOUNTOVG AV EVEELV AVTOV TAVTAS TIQOS TAS AAAAG NHEQAS KAl VUKTAG — €L OUV
TOLOVTOV O OAvaTdc €0TLy, K€EDOC Eywye Aéyw: Kal ya ovdev TAelwv O Tag XQOVOG
datvetat o0t O elvar 1) pila VOE. €L d” av olov amodnunoat éotv 0 Oavatog évOévde
elg AAAOV TOTOV, Kol AANOT €0TLV Tt AeYOUEVA, WG AQA EKEL ELOL TIAVTEG Ol TeOVe@TEG,
Tt petlov ayaBov tovTov el AV, @ AVORES dIKAOTAL €L YAQ TIS APucOpevog eic Awdov,
ATIAAAQYELS TOVTWVL TWV PACKOVTWV dKAOTWV €lval, €VQNOEL TOVG WG AANOWC
ducaotde, olmep kal Aéyovrtal éxet dwalerv, Mivwg te kat PadapavOug kat Alarkog
kat TotmtoAepog kat dAAoL oot twv Mubéwv dikatot EyEvovTo v Te vtV Piw, doa
davAN av eln 1 amodnuia;

Translate xkat elte o) ... el 0 Odvarog (lines 3-5). [3 marks]

According to lines 9-10 (oipat av ... Nuéag xat voktag) who would find a
dreamless and unconscious night preferable to all the others in their life? [2 marks]

Explain the sentence kat Yo o0déV mAeiwv 6 Ttag xeovog dpaivetat obTw
on etvar ) pla vo€ (lines 11-12). [4 marks]

Why should death, intended as migration, be a “great blessing” (ti peilCov
ayaBov tovTov &in &v, line 14) in Socrates’s view? [3 marks]

@ avdeg dikaotal (line 14). Explain in detail who the persons addressed by
Socrates are. At what point during the process does the action take place, and
what is happening while they are discussing? [3 marks]
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